

## SEVERAL IDENTITIES IN THE CATALAN TRIANGLE

Zhizheng Zhang and Bijun Pang

Department of Mathematics, Luoyang Teachers' College, Luoyang 471022,  
People's Republic of China  
e-mail: zhzhzhang-yang@163.com

(Received 2 February 2009; after final revision 12 October 2009;  
accepted 29 October 2009)

In this paper, we first establish several identities for the alternating sums in the Catalan triangle whose  $(n, p)$  entry is defined by  $B_{n, p} = \frac{p}{n} \binom{2n}{n-p}$ . Second, we show that the Catalan triangle matrix  $\mathcal{C}$  can be factorized by  $\mathcal{C} = \mathcal{F}\mathcal{Y} = \mathcal{Z}\mathcal{F}$ , where  $\mathcal{F}$  is the Fibonacci matrix. From these formulas, some interesting identities involving  $B_{n, p}$  and the Fibonacci numbers  $F_n$  are given. As special cases, some new relationships between the well-known Catalan numbers  $C_n$  and the Fibonacci numbers are obtained, for example:

$$C_n = F_{n+1} + \sum_{k=3}^n \left\{ 1 - \frac{(k+1)(5k-6)}{4(2k-1)(2k-3)} \right\} C_k F_{n-k+1},$$

and

$$\frac{n-1}{n+2} C_n = \frac{1}{2} F_n + F_{n-2} + \sum_{k=4}^n \left\{ 1 - \frac{(k+2)(5k^2-16k+9)}{4(k-1)(2k-1)(2k-3)} \right\} \frac{k-1}{k+2} C_k F_{n-k+1}.$$

**Key words :** Catalan triangle; Catalan number; sum; Fibonacci matrix; Fibonacci number.

## 1. INTRODUCTION

In [10], by considering lattice paths in the first quadrant, Shapiro derived the following triangle similar to Pascal's triangle, with entries given by

$$B_{n,p} = \frac{p}{n} \binom{2n}{n-p}, \quad n, p \in \mathbb{N}, p \leq n. \quad (1)$$

The above triangle is called Catalan triangle because the well-known Catalan numbers are the entries in the first column. Catalan numbers are defined recursively by  $C_0 = 1$  and  $C_n = \sum_{i=0}^{n-1} C_i C_{n-1-i}$ ,  $n \geq 1$ . The general term of Catalan sequence is given by the formula

$$C_n = \frac{1}{n+1} \binom{2n}{n}, \quad n \geq 1.$$

Catalan numbers have been widely encountered and widely investigated. In [11] Stanley lists some 70 examples of enumeration problems which are counted by the Catalan numbers. The research bibliography of Gould [4] also contains a wealth of references. Aigner [1] introduced a class of numbers, called Catalan-like numbers and provided a common framework for a series of coefficients with Catalan numbers [11] as special cases. Other generalized Catalan numbers are considered in [7]. Although the numbers  $B_{n,p}$  are not as famous as Catalan numbers, they have also some different interpretations and applications. See [5].

In [10], Shapiro gave the following identities

$$\sum_{p=1}^n (B_{n,p})^2 = C_{2n-1}, \quad n \in \mathbb{N}, \quad (2)$$

$$\sum_{p=1}^n B_{n,p} B_{n+1,p} = C_{2n}, \quad n \geq 1. \quad (3)$$

In [5], Gutierrez, Hernandez, Miana and Romero gave an alternative proof of identities (2) and (3) and established the following identities:

$$\sum_{p=1}^n (pB_{n,p})^2 = (3n-2)C_{2(n-1)}, \quad n \in \mathbb{N}, \quad (4)$$

$$\sum_{p=1}^i B_{n,p} B_{n,n+p-i} (n+2p-i) = (n+1) \binom{2(n-1)}{i-1} C_n, \quad n \in \mathbb{N}. \quad (5)$$

In particular, if  $i = n$  in (5), then

$$\sum_{p=1}^n p(B_{n,p})^2 = \frac{n(n+1)}{2} C_n C_{n-1}, \quad n \in \mathbb{N}. \tag{6}$$

The structure of the paper is as follows. In Section 2 we first establish several identities for the alternating sums in the Catalan triangle whose  $(n, p)$  entry is defined by  $B_{n,p} = \frac{p}{n} \binom{2n}{n-p}$ . In Section 3 we show that Catalan triangle matrix can be factorized as the product of the Fibonacci matrix and a lower triangular matrix. From these factorizations, some interesting identities involving  $B_{n,p}$  and the Fibonacci numbers  $F_n$  are given. As special cases, some new relationships between the well-known Catalan numbers  $C_n$  and the Fibonacci numbers are obtained.

### 2. SOME ALTERNATING SUMS

First of all, we give two identities which are to be used later.

*Lemma 2.1* — The following hold :

$$\sum_{p=0}^{n-1} (-1)^p \binom{2n}{p}^2 = \frac{1}{2} (-1)^n \binom{2n}{n} - \frac{1}{2} (-1)^n \binom{2n}{n}^2, \quad (n \geq 1), \tag{7}$$

$$\begin{aligned} \sum_{p=0}^{n-2} (-1)^p \binom{2n-1}{p} \binom{2n-1}{p+1} &= \frac{1}{2} (-1)^n \binom{2n-1}{n} \binom{2n-1}{n-1} \\ &\quad - \frac{1}{2} (-1)^n \binom{2n-1}{n}, \quad (n \geq 2). \end{aligned} \tag{8}$$

**PROOF :** Comparing the coefficients of  $x^{2n}$  in both sides of the equalities  $(1-x)^{2n}(1+x)^{2n} = (1-x^2)^{2n}$  and  $(1-x)^{2n-1}(1+x)^{2n-1} = (1-x^2)^{2n-1}$  yields

$$\sum_{k=0}^{2n} (-1)^k \binom{2n}{k}^2 = (-1)^n \binom{2n}{n}, \tag{9}$$

and

$$\sum_{k=1}^{2n-1} (-1)^k \binom{2n-1}{k} \binom{2n-1}{k-1} = (-1)^n \binom{2n-1}{n}, \tag{10}$$

respectively. Since

$$\begin{aligned} \sum_{p=0}^{n-1} (-1)^p \binom{2n}{p}^2 &= \sum_{p=0}^{2n} (-1)^p \binom{2n}{p}^2 - \sum_{p=n}^{2n} (-1)^p \binom{2n}{p}^2 \\ &= (-1)^n \binom{2n}{n} - \sum_{p=0}^n (-1)^p \binom{2n}{p}^2, \end{aligned}$$

we have

$$2 \sum_{p=0}^{n-1} (-1)^p \binom{2n}{p}^2 = (-1)^n \binom{2n}{n} - (-1)^n \binom{2n}{n}^2.$$

The first formula is proved. The second formula can be proved similarly.  $\square$

**Theorem 2.2** — Let  $n \geq 1$ . Then

$$\sum_{p=1}^n (-1)^p (B_{n,p})^2 = -\frac{1}{2}(n+1)C_n. \quad (11)$$

**PROOF :** Applying Lemma 2.1, we have

$$\begin{aligned} \sum_{p=1}^n (-1)^p (B_{n,p})^2 &= \sum_{p=1}^n (-1)^p \frac{p^2}{n^2} \binom{2n}{n-p}^2 \\ &= \frac{1}{n^2} \sum_{p=0}^{n-1} (-1)^{n-p} (n-p)^2 \binom{2n}{p}^2 \\ &= \frac{(-1)^n}{n^2} \sum_{p=0}^{n-1} (-1)^p (n^2 - 2np + p^2) \binom{2n}{p}^2 \\ &= (-1)^n \sum_{p=0}^{n-1} (-1)^p \binom{2n}{p}^2 - 4(-1)^n \sum_{p=0}^{n-1} (-1)^p \\ &\quad \binom{2n-1}{p-1} \binom{2n}{p} + 4(-1)^n \sum_{p=0}^{n-1} (-1)^p \binom{2n-1}{p-1}^2 \\ &= \frac{1}{2} \binom{2n}{n} - \frac{1}{2} \binom{2n}{n}^2 - 4(-1)^n \sum_{p=1}^{n-1} (-1)^p \binom{2n-1}{p-1} \\ &\quad \left[ \binom{2n}{p} - \binom{2n-1}{p-1} \right] \end{aligned}$$

$$\begin{aligned}
&= \frac{1}{2} \binom{2n}{n} - \frac{1}{2} \binom{2n}{n}^2 - 4(-1)^n \sum_{p=1}^{n-1} (-1)^p \binom{2n-1}{p-1} \binom{2n-1}{p} \\
&= \frac{1}{2} \binom{2n}{n} - \frac{1}{2} \binom{2n}{n}^2 - 2 \binom{2n-1}{n} + 2 \binom{2n-1}{n} \binom{2n-1}{n-1} \\
&= \frac{1}{2} \binom{2n}{n} - \frac{1}{2} \binom{2n}{n}^2 - 2 \times \frac{1}{2} \binom{2n}{n} + 2 \times \frac{1}{4} \binom{2n}{n}^2 \\
&= -\frac{1}{2} \binom{2n}{n} \\
&= -\frac{1}{2} (n+1) C_n.
\end{aligned}$$

□

**Theorem 2.3** — *Let  $n \geq 1$ . Then*

$$\sum_{p=1}^n (-1)^p p^2 (B_{n,p})^2 = n(n-2)(2n-1)C_{n-1}. \quad (12)$$

PROOF : We use the identity

$$(n-p)^4 = p^2(p-1)^2 + (2-4n)p^2(p-1) + p^2(6n^2-4n+1) - 4n^3p + n^4$$

to get that

$$\begin{aligned}
&\sum_{p=1}^n (-1)^p p^2 (B_{n,p})^2 = \sum_{p=1}^n (-1)^p p^2 \frac{p^2}{n^2} \binom{2n}{n-p}^2 \\
&= \frac{1}{n^2} \sum_{p=0}^{n-1} (-1)^{n-p} (n-p)^4 \binom{2n}{p}^2 \\
&= \frac{(-1)^n}{n^2} \sum_{p=0}^{n-1} (-1)^p \\
&\quad \{p^2(p-1)^2 + (2-4n)p^2(p-1) + p^2(6n^2-4n+1) - 4n^3p + n^4\} \binom{2n}{p}^2 \\
&= 4(2n-1)^2 (-1)^n \sum_{p=2}^{n-1} (-1)^p \binom{2n-2}{p-2}^2 + (-1)^n 4(2-4n) \sum_{p=1}^{n-1} (-1)^p (p-1) \\
&\quad \binom{2n-1}{p-1}^2 + (-1)^n 4(6n^2-4n+1) \sum_{p=1}^{n-1} (-1)^p \binom{2n-1}{p-1}^2
\end{aligned}$$

$$-(-1)^n 8n^2 \sum_{p=1}^{n-1} (-1)^p \binom{2n-1}{p-1} \binom{2n}{p} + (-1)^n n^2 \sum_{p=0}^{n-1} (-1)^p \binom{2n}{p}^2.$$

Applying Lemma 2.1 for  $\sum_{p=2}^{n-1} (-1)^p \binom{2n-2}{p-2}^2$  and  $\sum_{p=0}^{n-1} (-1)^p \binom{2n}{p}^2$ , we have

$$\begin{aligned} & \sum_{p=1}^n (-1)^p p^2 (B_{n,p})^2 \\ = & 4(2n-1)^2 \left[ -\frac{1}{2} \binom{2n-2}{n-1} + \frac{1}{2} \binom{2n-2}{n-1}^2 - \binom{2n-2}{n-2} \right] \\ & + n^2 \left[ \frac{1}{2} \binom{2n}{n} - \frac{1}{2} \binom{2n}{n}^2 \right] + (-1)^n 4(2-4n) \sum_{p=1}^{n-1} (-1)^p (p-1) \binom{2n-1}{p-1}^2 \\ & + (-1)^n 4(6n^2 - 4n + 1) \\ & \sum_{p=1}^{n-1} (-1)^p \binom{2n-1}{p-1}^2 - (-1)^n 8n^2 \sum_{p=1}^{n-1} (-1)^p \binom{2n-1}{p-1} \binom{2n}{p} \\ = & 4(2n-1)^2 \left[ -\frac{1}{2} \binom{2n-2}{n-1} + \frac{1}{2} \binom{2n-2}{n-1}^2 - \binom{2n-2}{n-2} \right] \\ & + n^2 \left[ \frac{1}{2} \binom{2n}{n} - \frac{1}{2} \binom{2n}{n}^2 \right] - (-1)^n 8(2n-1)^2 \sum_{p=1}^{n-1} (-1)^p \binom{2n-1}{p-1} \binom{2n-2}{p-2} \\ & + (-1)^n 4(6n^2 - 4n + 1) \\ & \sum_{p=1}^{n-1} (-1)^p \binom{2n-1}{p-1}^2 - (-1)^n 8n^2 \sum_{p=1}^{n-1} (-1)^p \binom{2n-1}{p-1} \left[ \binom{2n-1}{p} + \binom{2n-1}{p-1} \right] \\ = & 4(2n-1)^2 \left[ -\frac{1}{2} \binom{2n-2}{n-1} + \frac{1}{2} \binom{2n-2}{n-1}^2 - \binom{2n-2}{n-2} \right] \\ & + n^2 \left[ \frac{1}{2} \binom{2n}{n} - \frac{1}{2} \binom{2n}{n}^2 \right] - (-1)^n 8(2n-1)^2 \sum_{p=1}^{n-1} (-1)^p \binom{2n-1}{p-1} \binom{2n-2}{p-2} \\ & + (-1)^n 4(4n^2 - 4n + 1) \\ & \sum_{p=1}^{n-1} (-1)^p \binom{2n-1}{p-1}^2 - (-1)^n 8n^2 \sum_{p=1}^{n-1} (-1)^p \binom{2n-1}{p-1} \binom{2n-1}{p}. \end{aligned}$$

Again, applying Lemma 2.1 for the final term on the right hand side of the

above equation we have

$$\begin{aligned}
& \sum_{p=1}^n (-1)^p p^2 (B_{n,p})^2 \\
= & 4(2n-1)^2 \left[ -\frac{1}{2} \binom{2n-2}{n-1} + \frac{1}{2} \binom{2n-2}{n-1}^2 - \binom{2n-2}{n-2} \right] \\
& + n^2 \left[ \frac{1}{2} \binom{2n}{n} - \frac{1}{2} \binom{2n}{n}^2 \right] - (-1)^n 8(2n-1)^2 \sum_{p=1}^{n-1} (-1)^p \binom{2n-1}{p-1} \binom{2n-2}{p-2} \\
& + (-1)^n 4(4n^2 - 4n + 1) \\
& \sum_{p=1}^{n-1} (-1)^p \binom{2n-1}{p-1}^2 - (-1)^n 8n^2 \sum_{p=1}^{n-1} (-1)^p \binom{2n-1}{p-1} \binom{2n-1}{p} \\
= & -2(2n-1)^2 \binom{2n-2}{n-1} + 2(2n-1)^2 \binom{2n-2}{n-1}^2 - 4(2n-1)^2 \binom{2n-2}{n-2}^2 \\
& + \frac{1}{2} n^2 \binom{2n}{n} - \frac{1}{2} n^2 \binom{2n}{n}^2 \\
& - (-1)^n 8n^2 \left[ \frac{1}{2} (-1)^n \binom{2n-1}{n} - \frac{1}{2} (-1)^n \binom{2n-1}{n} \binom{2n-1}{n-1} \right] \\
& + (-1)^n 4(2n-1)^2 \sum_{p=1}^{n-1} (-1)^p \binom{2n-1}{p-1} \left[ \binom{2n-1}{p-1} - 2 \binom{2n-2}{p-2} \right].
\end{aligned}$$

Noting that

$$\begin{aligned}
& \sum_{p=1}^{n-1} (-1)^p \binom{2n-1}{p-1} \left[ \binom{2n-1}{p-1} - 2 \binom{2n-2}{p-2} \right] \\
= & \sum_{p=1}^{n-1} (-1)^p \left[ \binom{2n-2}{p-1} + \binom{2n-2}{p-2} \right] \left[ \binom{2n-2}{p-1} - \binom{2n-2}{p-2} \right] \\
= & \sum_{p=1}^{n-1} (-1)^p \left[ \binom{2n-2}{p-1}^2 - \binom{2n-2}{p-2}^2 \right] \\
= & - \sum_{p=0}^{n-2} (-1)^p \binom{2n-2}{p}^2 - \sum_{p=0}^{n-3} (-1)^p \binom{2n-2}{p}^2 \\
= & -2 \sum_{p=0}^{n-2} (-1)^p \binom{2n-2}{p}^2 + (-1)^n \binom{2n-2}{n-2}^2
\end{aligned}$$

$$\begin{aligned}
&= -2 \left[ \frac{1}{2}(-1)^{n-1} \binom{2n-2}{n-1} - \frac{1}{2}(-1)^{n-1} \binom{2n-2}{n-1}^2 \right] + (-1)^n \binom{2n-2}{n-2}^2 \\
&= (-1)^n \binom{2n-2}{n-1} - (-1)^n \binom{2n-2}{n-1}^2 + (-1)^n \binom{2n-2}{n-2}^2,
\end{aligned}$$

we get

$$\begin{aligned}
&\sum_{p=1}^n (-1)^p p^2 (B_{n,p})^2 \\
&= -2(2n-1)^2 \binom{2n-2}{n-1} + 2(2n-1)^2 \binom{2n-2}{n-1}^2 - 4(2n-1)^2 \binom{2n-2}{n-2}^2 \\
&\quad + \frac{1}{2}n^2 \binom{2n}{n} - \frac{1}{2}n^2 \binom{2n}{n}^2 - 8n^2 \left[ \frac{1}{2} \binom{2n-1}{n} - \frac{1}{2} \binom{2n-1}{n} \binom{2n-1}{n-1} \right] \\
&\quad + 4(2n-1)^2 \binom{2n-2}{n-1} - 4(2n-1)^2 \binom{2n-2}{n-1}^2 + 4(2n-1)^2 \binom{2n-2}{n-2}^2 \\
&= 2(2n-1)^2 \binom{2n-2}{n-1} - 2(2n-1)^2 \binom{2n-2}{n-1}^2 + \frac{1}{2}n^2 \binom{2n}{n} - \frac{1}{2}n^2 \binom{2n}{n}^2 \\
&\quad - 4n^2 \binom{2n-1}{n} + 4n^2 \binom{2n-1}{n} \binom{2n-1}{n-1} \\
&= 2(2n-1)^2 \binom{2n-2}{n-1} - 2(2n-1)^2 \binom{2n-2}{n-1}^2 + n(2n-1) \binom{2n-2}{n-1} \\
&\quad - n(2n-1) \binom{2n}{n} \binom{2n-2}{n-1} - 4n(2n-1) \binom{2n-2}{n-1} + 4(2n-1)^2 \binom{2n-2}{n-1}^2 \\
&= (2n^2 - 5n + 2) \binom{2n-2}{n-1} \\
&= n(n-2)(2n-1)C_{n-1}.
\end{aligned}$$

The proof is complete.  $\square$

**Theorem 2.4** — Let  $n \geq 2$ . Then

$$\begin{aligned}
&\sum_{p=1}^n (-1)^p p (B_{n,p})^2 + 4(n-1)^3 \sum_{p=0}^{n-2} \frac{(-1)^p}{(p+1)(p+2)} B_{n-1,p+1} B_{n-1,p+2} \\
&= n(2n^2 - 6n + 3)C_{n-1}. \tag{13}
\end{aligned}$$

PROOF: Using

$$(n-p)^3 = -p^2(p-1) + (3n-1)p^2 - 3n^2p + n^3,$$



we have

$$\begin{aligned}
\sum_{p=1}^n (-1)^p p (B_{n,p})^2 &= \frac{1}{n^2} \sum_{p=1}^n (-1)^p p^3 \binom{2n}{n-p}^2 = \frac{(-1)^n}{n^2} \sum_{p=0}^{n-1} (-1)^p (n-p)^3 \binom{2n}{p}^2 \\
&= \frac{(-1)^n}{n^2} \sum_{p=0}^{n-1} (-1)^p (-p^2(p-1) + (3n-1)p^2 - 3n^2p + n^3) \binom{2n}{p}^2 \\
&= 4(-1)^n \sum_{p=0}^{n-2} (-1)^p p \binom{2n-1}{p}^2 - 4(-1)^n (3n-1) \sum_{p=0}^{n-2} (-1)^p \binom{2n-1}{p}^2 \\
&\quad - 3(-1)^n \sum_{p=0}^{n-1} (-1)^p p \binom{2n}{p}^2 + (-1)^n n \sum_{p=0}^{n-1} (-1)^p \binom{2n}{p}^2 \\
&= (-1)^n 4(2n-1) \sum_{p=1}^{n-2} (-1)^p \binom{2n-1}{p} \binom{2n-2}{p-1} - (-1)^n 4(3n-1) \sum_{p=0}^{n-2} (-1)^p \\
&\quad \binom{2n-1}{p}^2 - (-1)^n 6n \sum_{p=1}^{n-1} (-1)^p \binom{2n}{p} \binom{2n-1}{p-1} + (-1)^n n \sum_{p=0}^{n-1} (-1)^p \binom{2n}{p}^2.
\end{aligned} \tag{14}$$

By combinatorial computation, the first term on the right hand side of (14) equals

$$\begin{aligned}
\sum_{p=1}^{n-2} (-1)^p \binom{2n-1}{p} \binom{2n-2}{p-1} &= \sum_{p=1}^{n-2} (-1)^p \binom{2n-2}{p} \binom{2n-2}{p-1} + \sum_{p=1}^{n-2} (-1)^p \binom{2n-2}{p-1}^2 \\
&= \sum_{p=1}^{n-2} (-1)^p \binom{2n-2}{p} \binom{2n-2}{p-1} \\
&\quad - \sum_{p=0}^{n-3} (-1)^p \binom{2n-2}{p}^2.
\end{aligned}$$

The second term on the right hand side of (14) equals

$$\begin{aligned}
\sum_{p=0}^{n-2} (-1)^p \binom{2n-1}{p}^2 &= \sum_{p=0}^{n-2} (-1)^p \left[ \binom{2n-2}{p} + \binom{2n-2}{p-1} \right]^2 \\
&= (-1)^n \binom{2n-2}{n-2}^2 + 2 \sum_{p=0}^{n-2} (-1)^p \binom{2n-2}{p} \binom{2n-2}{p-1}.
\end{aligned}$$

The third term on the right hand side of (14) equals

$$\begin{aligned}
 \sum_{p=0}^{n-1} (-1)^p \binom{2n}{p} \binom{2n-1}{p-1} &= \sum_{p=0}^{n-1} (-1)^p \binom{2n-1}{p} \binom{2n-1}{p-1} + \sum_{p=1}^{n-1} (-1)^p \binom{2n-1}{p-1}^2 \\
 &= \sum_{p=0}^{n-1} (-1)^p \binom{2n-1}{p} \binom{2n-1}{p-1} - \sum_{p=0}^{n-2} (-1)^p \binom{2n-1}{p}^2 \\
 &= \sum_{p=0}^{n-1} (-1)^p \binom{2n-1}{p} \binom{2n-1}{p-1} - (-1)^n \\
 &\quad \binom{2n-2}{n-2}^2 - 2 \sum_{p=0}^{n-2} (-1)^p \binom{2n-2}{p} \binom{2n-2}{p-1}.
 \end{aligned}$$

Hence we have

$$\begin{aligned}
 &\sum_{p=1}^n (-1)^p p (B_{n,p})^2 \\
 = &-2(3n-2) \binom{2n-2}{n-2}^2 + (-1)^n n \sum_{p=0}^{n-1} (-1)^p \binom{2n}{p}^2 - (-1)^n 6n \sum_{p=0}^{n-1} (-1)^n \\
 &\binom{2n-1}{p} \binom{2n-1}{p-1} - (-1)^n 4(2n-1) \sum_{p=0}^{n-3} (-1)^p \binom{2n-2}{p}^2 - (-1)^n 4(n-1) \\
 &\sum_{p=0}^{n-2} (-1)^p \binom{2n-2}{p} \binom{2n-2}{p-1}.
 \end{aligned}$$

Using Lemma 2.1 it follows that

$$\begin{aligned}
 \sum_{p=1}^n (-1)^p p (B_{n,p})^2 &= \frac{1}{2} n \binom{2n}{n} - \frac{1}{2} n \binom{2n}{n}^2 - 2(3n-2) \binom{2n-2}{n-2}^2 - 3n \binom{2n-1}{n} \\
 &\quad + 3n \binom{2n-1}{n} \binom{2n-1}{n-1} + 2(2n-1) \binom{2n-2}{n-1} - 2(2n-1) \\
 &\quad \binom{2n-2}{n-1}^2 + 4(2n-1) \binom{2n-2}{n-2}^2 \\
 &\quad - (-1)^n 4(n-1) \sum_{p=0}^{n-2} (-1)^p \binom{2n-2}{p} \binom{2n-2}{p-1} \\
 &= \frac{2n^2 - 6n + 3}{n} \binom{2n-2}{n-1}^2 - (-1)^n 4(n-1)
 \end{aligned}$$

$$\begin{aligned} & \sum_{p=0}^{n-2} (-1)^p \binom{2n-2}{p} \binom{2n-2}{p-1} \\ &= n(2n^2 - 6n + 3)C_{n-1} - 4(n-1)^3 \sum_{p=0}^{n-2} \frac{(-1)^p}{(p+1)(p+2)} \\ & \quad B_{n-1, p+1} B_{n-1, p+2}. \end{aligned}$$

The proof is complete. □

**Theorem 2.5** — *Let  $n \geq 1$ . Then*

$$\begin{aligned} \sum_{p=1}^n (-1)^p B_{n, p} B_{n+1, p} + \sum_{p=1}^n (-1)^p \frac{n^2 - p^2}{p(p+2)} \\ B_{n, p} B_{n+1, p+2} = -n(2n+1)C_n^2 + nC_n. \end{aligned} \tag{15}$$

PROOF: First, we have

$$\begin{aligned} \sum_{p=1}^n (-1)^p B_{n, p} B_{n+1, p} &= \frac{1}{n(n+1)} \sum_{p=1}^n (-1)^p p^2 \binom{2n}{n-p} \binom{2n+2}{n+1-p} \\ &= \frac{(-1)^n}{n(n+1)} \sum_{p=0}^{n-1} (-1)^p (n-p)^2 \binom{2n}{p} \binom{2n+2}{p+1} \\ &= \frac{(-1)^n}{n(n+1)} \sum_{p=0}^{n-1} (-1)^p (n^2 - 2np + p^2) \binom{2n}{p} \binom{2n+2}{p+1} \\ &= \frac{(-1)^n}{n(n+1)} \left\{ n^2 \sum_{p=0}^{n-1} (-1)^p \binom{2n}{p} \binom{2n+2}{p+1} - 2n \sum_{p=0}^{n-1} (-1)^p p \binom{2n}{p} \binom{2n+2}{p+1} \right. \\ & \quad \left. + \sum_{p=0}^{n-1} (-1)^p p^2 \binom{2n}{p} \binom{2n+2}{p+1} \right\}. \end{aligned}$$

Applying Lemma 2.1, it follows that

$$\begin{aligned} \sum_{p=0}^{n-1} (-1)^p \binom{2n}{p} \binom{2n+2}{p+1} &= \sum_{p=0}^{n-1} (-1)^p \binom{2n}{p} \left[ \binom{2n}{p+1} + 2 \binom{2n}{p} + \binom{2n}{p-1} \right] \\ &= \sum_{p=0}^{n-1} (-1)^p \binom{2n}{p} \binom{2n}{p+1} + 2 \sum_{p=0}^{n-1} (-1)^p \binom{2n}{p}^2 \end{aligned}$$

$$\begin{aligned}
 & - \sum_{p=0}^{n-2} (-1)^p \binom{2n}{p} \binom{2n}{p+1} \\
 &= (-1)^{n-1} \binom{2n}{n-1} \binom{2n}{n} + (-1)^n \binom{2n}{n} - (-1)^n \binom{2n}{n}^2 \\
 &= -(2n+1)(n+1)(-1)^n C_n^2 + (n+1)(-1)^n C_n.
 \end{aligned}$$

Noting that

$$\sum_{p=0}^{n-1} (-1)^p p \binom{2n}{p} \binom{2n+2}{p+1} = (-1)^n n(n+1) \sum_{p=1}^n (-1)^p \frac{n-p}{p(p+2)} B_{n,p} B_{n+1,p+2}$$

and

$$\sum_{p=0}^{n-1} (-1)^p p^2 \binom{2n}{p} \binom{2n+2}{p+1} = (-1)^n n(n+1) \sum_{p=1}^n (-1)^p \frac{(n-p)^2}{p(p+2)} B_{n,p} B_{n+1,p+2},$$

the proof of the theorem can be completed. □

### 3. $B_{n,p}$ AND FIBONACCI NUMBERS

The  $n \times n$  Catalan triangle matrix  $\mathcal{C}$  is defined by

$$\mathcal{C} = [B_{i,j}]_{i,j=1,2,\dots,n},$$

where  $B_{i,j}$  is defined in (1).

The Fibonacci numbers have been discussed in so many papers and books. Let  $F_n$  be the  $n$ th Fibonacci number. The  $n \times n$  Fibonacci matrix  $\mathcal{F} = [f_{i,j}]$  ( $i, j = 1, 2, \dots, n$ ) is defined by

$$f_{i,j} = \begin{cases} F_{i-j+1}, & \text{if } i - j \geq 0, \\ 0, & \text{if } i - j < 0. \end{cases} \tag{16}$$

The inverse of  $\mathcal{F}$  is given as follows: if  $\mathcal{F}^{-1} = [f'_{i,j}]$  ( $i, j = 1, 2, \dots, n$ ), then

$$f'_{i,j} = \begin{cases} 1, & i = j, \\ -1, & i = j + 1, j + 2, \\ 0, & \text{otherwise.} \end{cases} \tag{17}$$

We define two  $n \times n$  matrices  $\mathcal{Y} = [y_{i,j}]$  and  $\mathcal{Z} = [z_{i,j}]$  ( $i, j = 1, 2, \dots, n$ ) as follows:

$$y_{i,j}(x) = B_{i,j} - B_{i-1,j} - B_{i-2,j}, \tag{18}$$

here we make the convention that  $B_{-1,j} = B_{-2,j} = 0$ , and

$$z_{i,j}(x) = B_{i,j} - B_{i,j+1} - B_{i,j+2}, \tag{19}$$

respectively.

From the definition of  $\mathcal{C}$  and the inverse of  $\mathcal{F}$ , it is easy to see that  $\mathcal{F}^{-\infty}\mathcal{C} = \mathcal{Y}$  and  $\mathcal{C}\mathcal{F}^{-\infty} = \mathcal{Z}$ . Hence we have

$$\mathcal{C} = \mathcal{F}\mathcal{Y} = \mathcal{Z}\mathcal{F}. \tag{20}$$

From (20), we have the following identities.

**Theorem 3.1** — For  $1 \leq p \leq n - 2$ ,

$$B_{n,p} = F_{n-p+1} + (2p - 1)F_{n-p} + \sum_{k=p+2}^n \left\{ 1 - \frac{(k^2 - p^2)(5k^2 - 16k + 13 - p^2)}{4(k - 1)(k - 2)(2k - 1)(2k - 3)} \right\} B_{k,p}F_{n-k+1} \tag{21}$$

and

$$B_{n,p} = F_{n-p+1} + (2n - 3)F_{n-p} + \sum_{k=p}^{n-2} \left\{ 1 - \frac{n(n - k)(2k + 3)}{k(n + k + 1)(n + k + 2)} \right\} B_{n,k}F_{k-p+1}. \tag{22}$$

PROOF: From (18), it is easy to see that

$$y_{p,p} = 1, \quad y_{p+1,p} = 2p - 1$$

and for  $k \geq p + 2$ ,

$$y_{k,p} = B_{k,p} - B_{k-1,p} - B_{k-2,p}$$

$$\begin{aligned}
 &= \frac{p}{k} \binom{2k}{k-p} - \frac{p}{k-1} \binom{2k-2}{k-p-1} - \frac{p}{k-2} \binom{2k-4}{k-p-2} \\
 &= \frac{p}{k} \binom{2k}{k-p} \left\{ 1 - \frac{(k^2 - p^2)(5k^2 - 16k + 13 - p^2)}{4(k-1)(k-2)(2k-1)(2k-3)} \right\} \\
 &= B_{k,p} \left\{ 1 - \frac{(k^2 - p^2)(5k^2 - 16k + 13 - p^2)}{4(k-1)(k-2)(2k-1)(2k-3)} \right\}.
 \end{aligned}$$

Then, from (20) it follows that

$$\begin{aligned}
 B_{n,p} &= \sum_{k=p}^n F_{n-k+1} y_{k,p} \\
 &= F_{n-p+1} y_{p,p} + F_{n-p} y_{p+1,p}(x) + \sum_{k=p+2}^n F_{n-k+1} y_{k,p} \\
 &= F_{n-p+1} + (2p-1)F_{n-p} \\
 &\quad + \sum_{k=p+2}^n \left\{ 1 - \frac{(k^2 - p^2)(5k^2 - 16k + 13 - p^2)}{4(k-1)(k-2)(2k-1)(2k-3)} \right\} B_{k,p} F_{n-k+1},
 \end{aligned}$$

and (21) holds. Similarly, we can obtain identity (22). □

As consequences of Theorem 3.1, we derive the following interesting new relationships between the Catalan numbers and the Fibonacci numbers.

*Corollary 3.2* — For  $n \geq 3$ ,

$$C_n = F_{n+1} + \sum_{k=3}^n \left\{ 1 - \frac{(k+1)(5k-6)}{4(2k-1)(2k-3)} \right\} C_k F_{n-k+1}, \tag{23}$$

and

$$C_n = F_n + (2n-3)F_{n-1} + \sum_{k=1}^{n-2} \left\{ 1 - \frac{n(n-k)(2k+3)}{k(n+k+1)(n+k+2)} \right\} B_{n,k} F_k. \tag{24}$$

PROOF: Take  $p = 1$  in Theorem 3.1. □

*Corollary 3.3* — For  $n \geq 4$ ,

$$\begin{aligned}
 \frac{n-1}{n+2} C_n &= \frac{1}{2} F_n + F_{n-2} \\
 &\quad + \sum_{k=4}^n \left\{ 1 - \frac{(k+2)(5k^2 - 16k + 9)}{4(k-1)(2k-1)(2k-3)} \right\} \\
 &\quad \frac{k-1}{k+2} C_k F_{n-k+1},
 \end{aligned} \tag{25}$$

and

$$\begin{aligned} \frac{2(n-1)}{n+2}C_n = F_{n-1} &+ (2n-3)F_{n-2} \\ &+ \sum_{k=2}^{n-2} \left\{ 1 - \frac{n(n-k)(2k+3)}{k(n+k+1)(n+k+2)} \right\} \\ &B_{n,k}F_{k-1}. \end{aligned} \quad (26)$$

PROOF : Take  $p = 2$  in Theorem 3.1.  $\square$

*Note:* Applying the idea and method of the Lucas matrix introduced in [13], some identities involving Catalan numbers  $C_n$  and Lucas numbers can be obtained.

#### ACKNOWLEDGMENT

The authors are very grateful to the anonymous referee for comments and valuable suggestions which helped to much improve the original version. This research is supported by the National Natural Science Foundation of China (Grant No. 10771093).

#### REFERENCES

1. M. Aigner, Catalan-like numbers and determinants, *J. Comb. Theory, Ser. A*, **87** (1999), 33-51.
2. F. R. Bernhart, Catalan, Motzkin and Riordan numbers, *Discrete Math.*, **204** (1999), 73-112.
3. H. W. Gould, *Combinatorial Identities*, Morgantown, W. Va. (1972).
4. H. W. Gould, *Research Bibliography of Two Special Sequences*, Rev.ed., Combin. Research Institute, Morgantown, West virginia, (1977).
5. J. M. Gutierrez, M. A. Hernandez, P. J. Miana and N. Romero, New identities in the Catalan triangle, *J. Math. Anal. Appl.*, **341** (2008), 52-61.
6. F. Harary and R. Read, The enumeration of tree-like polyhexes, *Proc. Edinburgh Math. Soc.*, **17** (1970), 1-13.
7. P. Hilton and J. Pedersen, Catalan numbers, their generalization and uses, *Math. Intelligencer*, **13** (1991), 64-75.

8. M. E. Mays and J. Wojciechowski, A determinant property of Catalan numbers, *Discrete Math.*, **211** (2000), 125-133.
9. H. Pan and Z. W. Sun, A combinatorial identity with application to Catalan numbers, *Discrete Math.*, **306** (2006), 1921-1940.
10. L. W. Shapiro, A Catalan triangle, *Discrete Math.*, **14** (1976), 83-90.
11. R. Stanley, *Enumerative Combinatorics*, vol. II, Cambridge Studies in Advanced Mathematics 62, Cambridge University Press, Cambridge, (1999).
12. Z. Z. Zhang and J. Wang, Bernoulli matrix and its algebraic properties, *Discrete Appl. Math.*, **154**(11) (2006), 1622-1632.
13. Z. Z. Zhang and Y. L. Zhang, The Lucas matrix and some combinatorial identities, *Indian J. pure appl. Math.*, **38**(5) (2007), 457-465.